Hardware Selection Guide BOURNS®

Panel control mounting hardware is determined by bushing style. The "X" in the bushing style column indicates what hardware is used
with the bushing. Hardware indicated by a shaded area is normally supplied with unit. Other hardware may be ordered separately.
Hardware may be bulk packaged or individually packaged with units, depending on the model.

Bushing Style and Dimension

A B C E F J L U N R

Part Number 3/8” |locking, | 1/4” |locking,| 1/4~ 3/8” 9 mm 7 mm 1/4” |10 mm
and Description dia. |3/8”dia.| dia. [1/4”dia| dia. dia. dia. dia. dia. dia.

H-36-1 Flat Washer X X X X
H-36-2 Flat Washer X X X
H-37-1 Lockwasher X X X X
H-37-2 Lockwasher X X X X
H-38-1 Mounting Nut X X X X
H-38-2 Mounting Nut X X X
H-38-3 Lock Nut X
H-38-4 Lock Nut X
H-37-3 Lockwasher X
H-37-4 Lockwasher X
H-37-5 Lockwasher
H-38-8 M7 Mounting Nut X
H-38-9 M10 Mounting Nut X
H-38-11 M9 Mounting Nut X
H-38-14 M6 Mounting Nut

H-WO06-MM Flat Washer & Mounting Nut set (1 each)
H-W09-MM Flat Washer & Mounting Nut set (1 each)

Bushing Style and Dimension Model

S S T 3310/
Model | Model | Model | W | 3375 |PDAL7 |PDB18 |PTD90 |PTV111|PTV142
50 EN | 3862

Part Number 6 mm 3/8” 1/4” 9 mm 1/4”
and Description dia. dia. dia. dia. dia.

H-36-1 Flat Washer X
H-36-2 Flat Washer X
H-37-1 Lockwasher X X
H-37-2 Lockwasher X X
H-38-1 Mounting Nut X X
H-38-2 Mounting Nut X
H-38-3 Lock Nut X
H-38-4 Lock Nut
H-37-3 Lockwasher
H-37-4 Lockwasher X
H-37-5 Lockwasher X
H-38-8 M7 Mounting Nut
H-38-9 M10 Mounting Nut
H-38-11 M9 Mounting Nut X
H-38-14 M6 Mounting Nut X
H-W06-MM Flat Washer & Mounting Nut set (1 each) X X X
H-W09-MM Flat Washer & Mounting Nut set (1 each) X X

66 Specifications are subject to change without notice.



